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O (™A T|ZxXH) 710,896F = 582,150%H, 128,746H(18.1%) LA
Li=Qle] &7t AX| T A0 HE A= (=00 o &
- (=Ql HIFE HA) 14.6%(103,734F) = 13.2%(76,802F), 1.4%p &
O (8%) g8 #2271 axq 282 odol o 3
- (BX2) 24(526,512Y, 90.4%) >0]43(56,638%F, 9.6%)
- (Q=Q HIF) Hd8(13.2%) > 01°8(12.8%)

O ( E1H=|) EE Edo-||k| 7I-_J.&_(70|:H0|M- GOEH 30[“ 7I-_J.&_ ;.l)
- (B3) 5000(36.2%) > 40CH(22.3%) > 60CH(20.6%) > 30LCH(11.3%)
- (SBI:?EI H|Z) 30CH(23.7%) > 20CH(18.0%) > 40CH(13.8%) > 50CH(11.8%)

O (F2 67 ZE5dH) R E XA ZAEHE, HAS 2L #H)
- (22) 2SR (580%) > HETS(148%) > HiES(124%) > H2S(9.3%)

- (=9l HIB) BE3(333% > BES3(295%) > HIEE(107%) > EE2E(10.1%)

' 31.1_' [=
- (-.v:it) 7s,'7| 20.1%) > M2(17.5%) > £AH6.2%) > 91H(5.9%)
- (=0 HIE) ME2(25.6%) > B71(17.5%) > MZE(15.1%) > & (10.6%)

O (KI¥9d) BE XM ZARF, 58, M2 42 #H)
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<ag 2> A8’ 8. d87|sUH o SH EE 30| H 1 (19.6~20.6)
dE7|99 der7|s24 o] = H &k
00 - - 5.0
=1 -B.6
-50 - - oo
-12.9

-10.0 - - 5.0
-15.0 - -10.0
200 - - -15.0
-25.0 - - -20.0

F 1) 7|82 o 22 AISS SAHEH015EH =2 8UH 71D Y
2) dE7|s82 HaxgRt & VIsdE A HBIS SARE, ZR7|A=H
FISAR S gt g Y.
Mz A, dEZRASHE

2. ElIMSH LSHX S8
O 48 W.ol=8 TSR 521968 iy 2068 Hsh

- (M) 710,896F = 582,150, 128,746 (18.1%) &=, =2
HAEDN HF ALF2 250l o |

ol

= AL
e S EI;I_é_Al'XIJ, ‘Tl

a7t X2

C(@FO HE LA) 146% = 13.2%, 1.4%p L&
(=9 UA) 607,162 = 505,348, 101,814H LA, 16.8%
- (dY Hlm) Hdo| ATt AX|oE Zdas2 0fdo|

Q=0 HIE HMH(13.2%)> A (12.8%)

(2=l &) 103,734F = 76,802, 26,932F &4, 26.0% HA

FIES

- (2%b 640,083H(90.0%) = 526,512H(90.4%), 113,571F(17.7%) ZZ, 0.4%p 7t

- (@FQ HIF ZA) 133% = 12.0% 1.3%p &
- (LH=Ql ZtA) 5456798 = 456,810H, 113,571H
(Ol ZA) 94404FH = 69,702H, 24,702H

da&, 17.7%

ZIES

o, 26.2% HA

- (04X} 70,813E(10.0%) = 56,638 (9.6%), 15,175E (21.4%) L=, 0.4%p T4

- (QIFQ HIE ZA) 13.2% = 12.8%, 0.4%p L2
- (LH=Ql ZA) 61,483 = 48,538, 12,9458 ZtA, 21.1%
- Q=0 ZA) 9,330E = 7,100, 2,034Y LA, 23.9%

[}
ZEA

[ 0 Y

ZtA




<38 3> 828 .=

Ol|tH T

| SHA F

7t sist

(‘19.6 CHH| '20.6 H3}

[ O —o
- 0.0
_i5175 -12,945  -2,230
-26,932 -24.702
-20.000 -
-40,000
-88,869 - -10.0
-101.814 HE F7| oy 52 218
b -113,571
' 128746 —--FE 57| iy S S48
- -15.0
-80,000
- -200
-100,000
120,000 - 250
26.0 26.2
-140,000 -30.0
(2 H = 2= H =2 =2 A =2 2172 | %)
FH| =&=! o
s EZ22XSH 2] DB
<E 1> 48 U .o=Qd u3HX 54 s
. 2019.6 2020.6 @ SJ| Uil 32
- CIRAE)|  PAHI(%)  |QIRNE)|  TAHI(%) QIRA(Y) | BLE(%)
Hl 710,896 100.0 100.0( 582,150 100.0 100.0 -128,746 -18.1
& | =9 | 607,162 85.4 85.4| 505,348 86.8 86.8 -101,814 -16.8
2/=90l | 103,734 14.6 14.6| 76,802 13.2 13.2 -26,932 -26.0
H 640,083 90.0 100.0( 526,512 90.4 100.0 -113,571 -17.7
<A | =9 | 545,679 76.8 85.3| 456,810 78.5 86.8 -88,869 -16.3
2/=0l 94,404 13.3 14.7| 69,702 12.0 13.2 -24,702 -26.2
H 70,813 10.0 100.0| 55,638 9.6 100.0 -15,175 -21.4
X | Li=el 61,483 8.6 86.8| 48,538 8.3 87.2 -12,945 -21.1
2l =0l 9,330 1.3 13.2 7,100 1.2 12.8 -2,230 -23.9
Az HAEZZXSHE DB



O MY W.FUE WIHR SU(19.68 ThH| 2068 H3h
5

- (MH) 710,896F = 582,150, 128,746F(18.1%) &4, W=l A7t AX|T,
LA HF BLZL 9300 2

- (=Ql H|F ZA) 14.6% = 13.2%, 14%p L2
- (LHI=Q Zt2) 607,162 = 505,348F, 101,814H Z4, 16.8% A4
(A= ZEA) 103,734F = 76,802, 26,932H LA, 26.0% LA
(Y HW) BE APHO|AM ZrA(70CH, 60CH, 3000 ZA #H)
AHEH 2 50C01(36.2%) > 40CH(22.3%) > 60CH(20.6%) > 30CH(11.3%)
Q|=9Ql H|E 30CH(23.7%) > 20CH(18.0%) > 40CH(13.8%) > 50CH(11.8%)

- (20CH O|St) 49,855(7.0%) = 42,615H(7.3%), 7,240B(14.5%) &=, 0.3%p 57t
SCERRES
NC LIPS
NCELIEIES

) 23.0% = 18.0%, 5.0%p 44
) 38,398% = 34,944%,6 3454F ZA 9.0% LA
) 11,457H = 7671%, 3,786 Z2A, 33.0% LA

- (30CH) 80,405H(11.3%) = 65,937H(11.3%), 14,468(18.0%) &4, H|EZ =8
L (@FQ HIF
SUETIEIP
JEIETIEIP

) 25.6% = 23.7%, 1.9%p &=
) 59,833% = 50,3059, 9,528F &4, 15.9% LA
) 20,572F = 15,6329, 49408 &4, 24.0% &AL

- (40Cl) 154,961H(21.8%) = 129,879B(22.3%), 25,082F(16.2%) &=, 0.5%p S7|

- (/=2 HE &) 153% = 13.8%, 1.5%p &4
< (LH=Ql ZEA) 131,290 = 112,008, 19,282H ZtA, 14.7% A

[}

(TRl ZEA) 23671 = 17,8719, 58008 ZA, 245% LA

- (50CH) 253,137 (35.6%) = 210,8978(36.2%), 42,240E(16.7%) &2, 0.9%p 7t

- (=2 HIE ZA) 13.0% = 11.8%, 1.2%p &4
- (LI=Ql &) 220,255 = 186,065F, 34,1908 Zf, 155% LA

[}

- (2=l ) 32,8828 = 24,8329, 8,050F &4, 245% HA

- (60CH) 154,197B(21.7%) = 119,920H(20.6%), 34,2778(22.2%) &HA, 11%p &

5

(2=l HFE ZA) 95% = 8.8%, 0.7%p LA
S (W=ol ZHA) 139,518 = 109,424, 30,094H ZHA 21.6% L2

[ }

(=2l &) 14,6798 = 10,4969F, 4,183 &4, 285% HA




- (70CH O]} 18,341H(2.6%) = 12,902%H(2.2%), 5,439H(29.7%)

12,

0.4%p &4

(=9
C(=el
(=9

7t
(|

-1
2

HIE ZHA) 26% = 2.3%, 03%p A&
L) 17,868 = 12,6029, 5266 ZA, 29.5%
) 473%H = 300Y, 1738 &=, 36.6%

ZEA

[ P

2

<1el

4> AZE WY.2/=QE LSHZX T

7t sist

o12H('19.6 CHH| '20.6 'He})

-3,454

-5,000

-10,000

-15,000

-20,000

-25,000

-30,000

-3, 786

-4,540

-5,800

-4,183

5,266 173

-29.

-10u1

=154

-20.

-254

-304

-35.4

=404

)

MU E7| e S A8S
B 33.0 ——HE 57| 0 52 SUE I
36.6
S I
@ | UEY 2=e | 4= 9 | W= g3 | I A3Y | YR AW | UIY A3 ||
zoCio|St ol Aot soCH s0CH 7oCH O
A= A4Z2XHSHE DB
<E 2> g4 L 2=olE n|3HX} 4 o
2019.6 2020.6 dA S| OiH &2
=2 0|22 [JJESIES o1l A
= | mame | PeT | Rame | 057 [s2EM
Hl 710,896 100.0 100.0| 582,150 100.0 100.0|-128,746 -18.1
&A L=el 607,162 85.4 85.4| 505,348 86.8 86.8/-101,814 -16.8
2|=0l 103,734 14.6 14.6 76,802 13.2 13.2| -26,932 -26.0
20CH Al 49,855 7.0 100.0 42,615 7.3 100.0 7,240 -14.5
0l 5t =0l 38,398 5.4 77.0 34,944 6.0 82.0 -3,454 -9.0
2|=0l 11,457 1.6 23.0 7,671 1.8 18.0| -83,786 -383.0
Hl 80,405 11.8 100.0 65,937 11.3 100.0| -14,468 -18.0
3004 =0l 59,833 8.4 74.4 50,305 8.6 76.3 -9,528 -15.9
=0l 20,572 2.9 25.6 15,632 2.7 23.7 -4,940 -24.0
Al 154,961 21.8 100.0| 129,879 22.3 100.0| -25,082 -16.2
400CH =0l 131,290 18.5 84.7] 112,008 19.2 86.2| —-19,282 -14.7
=0l 23,671 3.3 15.3 17,871 3.1 13.8 -5,800 -24.5
Hl 253,137 35.6 100.0f 210,897 36.2 100.0| —-42,240 -16.7
5004 =0l 220,255 31.0 87.0] 186,065 32.0 88.2| —-34,190 -15.5
=0l 32,882 4.6 13.0 24,832 4.3 11.8 -8,050 -24.5
Hl 154,197 21.7 100.0] 119,920 20.6 100.0| —-34,277 -22.2
60CH =0l 139,518 19.6 90.5| 109,424 18.8 91.2| -30,094 -21.6
=0l 14,679 2.1 9.5 10,496 1.8 8.8 -4,183 -28.5
700H Hl 18,341 2.6 100.0 12,902 2.2 100.0 -5,439 -29.7
0| At =0l 17,868 2.5 97.4 12,602 2.2 97.7 -5,266 -29.5
< /=0l 473 0.1 2.6 300 0.1 2.3 -1783 -36.6

NI

A2 22ASH =l DB



O F82 6/l 2F2| Li-e=E mSHX SH(19.68 CHH| 2068 =t

- (HH)) 467,848 = 379,214H2), 88,634H(18.9%) 4. W=Ql a7t AX|T ZAE0

!

HE #2%2 HHFE =0l o

- (@=el HF ZA) 16.9% = 15.1%, 1.8%p L
- (=9l Z) 388,596 = 322,011%Y, 66,5858 ZA, 17.1% LA
(=2l ZhA) 79,252H = 57,203F, 22,049H LA, 27.8% UL
- (A3YE ) BE BN ZdAEHES HASS A AH)
ATEH FX HEQIE(58.0%)>HBE=S(14.8%)>H 23 (12.4%)>EH25(9.3%)
Q=2 HIE HZ2E(33.3%)>HES3(29.5%)> Hi2+E(10.7%)> 25 215(10.1%)

- (HEQIE) 257,755H(55.1%) = 219,762H(58.0%), 37,993(14.7%) &2, 2.9%p 57}
Q=2 HE #2) 11.8% = 10.1%, 1.7%p &2
- (Lf=Ql ZA) 227,240 = 197,581H, 29,659H ZA, 13.1% &4
(=90l ZtA) 30,515% = 22,181Q, 8,334FH ZA 273% ZA

Q=0 HIE &) 324% = 29.5%, 2.9%p &2
(L=l ZtA) 50,139 = 39,5469, 10,593F ZtA, 21.1% LA
(=0l ZtA) 23,999H = 16,581Q, 7418FH ZA 309% ZA

H23) 46,775H(10.0%) = 35409H(9.3%), 11,366 (24.3%) Z=, 0.7%p LA
- (@FQ H|F ZA) 33.2% = 33.3%, 0.1%p 37}

- (LH=Q1 ZA) 31,262 = 23,6149, 7,648 Z+A, 245% A

- (2RI ZEA) 15513H = 11,7959, 3,718 ZA, 24.0% LA

(Hi2Z) 59,166 H(12.6%) = 47,146H(12.4%), 12,020QH(20.3%) L2, 0.2%p ZA
- (=0l HE &) 11.7% = 10.7%, 1.0%p &2

- (LH=0l ZA) 52,263 = 42,101%H, 10,162E ZtA, 194% ZA

- (2=l ZA) 6,903 = 5,045Y, 1,858H ZA, 269% LA

- (HIAIS) 16,886H(3.6%) = 11,946F(3.2%), 4,940 (29.3%) &=, 0.4p% LD

- (=2 HE &9) 6.5% = 65%
- (Lh=Ql ZA) 15,786 = 11,1679, 4,619 Z+4, 293% ZA
- Q=0 ZEA) 1,100 = 7799, 321H ZhA, 292% A

20206 WX HH HEZ SOM F2 671 2EF0| XHX|ot= HIS2 65.1%H




- (RH3B) 13,128H(2.8%) = 8,824 (2.3%), 4,304H(32.8%) LA, 0.5%P ZA
- (=0 HEs ) 93% = 9.3%

- (Lf=Q1 ZA) 11,906 = 8,002F, 3,904FH ZtA, 32.8% A

- (Q]FOl ZhA) 12228 = 8229, 400 ZA, 32.7% LA

<318 6> F8 XFTE W .A=UE mSHX S &(19.6 CiH| 206 Heh

-3, 718 -1,858 4,619 -321 -3,904 -400
-29,659 -8,334 -7,418 -7, 648
-5,000 . 10,593 : 10,162 50
-10,000 I -100
T4E 57| el & U=
-15,000 —=—TE 57| Che| & FEE | 150

-20,000

-25,000

-30,000 397

-35.0
(34)

=

ZF ;20206 X MAH 2F FOA FL 671 AEB0| XX[Sl= HIE2 65.1%
itz HE22XSH = DB

<E 3> F2 YFTE W.A=UE 1 IHx 2 e

2019.6 2020.6 d4 S| Odl 52

T2 ol T4l ol T4l A3 | SEE

(¥ (%) (#9) (%) (#9) (%)

Al 467,848 100.0 100.0| 379,214 100.0 100.0| -88,634 -18.9
il LH=2Ql | 388,596 83.1 83.1| 322,011 84.9 84.9| -66,585 -17.1
2=¢l 79,252 16.9 16.9] 57,203 15.1 156.1] -22,049 -27.8
Al 257,755 55.1 100.0| 219,762 58.0 100.0| -37,993 -14.7
2So2| W=l | 227,240 48.6 88.2| 197,581 52.1 89.9| —-29,659 -13.1
230l 30,515 6.5 11.8] 22,181 5.8 10.1] -8,334 -27.3
Al 74,138 15.8 100.0] 56,127 14.8 100.0/ —18,011 -24.3
g§E33| U= 50,139 10.7 67.6| 39,546 10.4 70.5| -10,593 -21.1
230l 23,999 5.1 32.4| 16,581 4.4 29.5| -7,418 -30.9
Al 46,775 10.0 100.0| 35,409 9.3 100.0| -11,366 -24.3
E2Z | U= 31,262 6.7 66.8| 23,614 6.2 66.7| —7,648 -24.5
27el 15,513 3.3 33.2| 11,795 3.1 33.3] -38,718 -24.0
Al 59,166 12.6 100.0| 47,146 12.4 100.0] -12,020 -20.3
&z | W=el 52,263 1.2 88.3| 42,101 111 89.3| -10,162 -19.4
2=el 6,903 1.5 1.7 5,045 1.3 10.7] —-1,858 -26.9
Al 16,886 3.6 100.0| 11,946 3.2 100.0] —-4,940 -29.3
HAS | =2 15,786 3.4 93.5| 11,167 2.9 93.5| -4,619 -29.3
232 1,100 0.2 6.5 779 0.2 6.5 -321 -29.2
Al 13,128 2.8 100.0 8,824 2.3 100.0| —-4,304 -32.8
ZHZ | =3¢ 11,906 2.5 90.7 8,002 2.1 90.7 -3,904 -32.8
270l 1,222 0.3 9.3 822 0.2 9.3 -400 -32.7

F 20206 S MA AE FOIM =2 671 HBO| XX|Sh= HEF2 65.1%.
AR AEZZXEH | DB



O XY¥ U .el=ed m I SZ(19.68 ChH| 2068 3}

- (A 710,896F = 582,150H3), 128,746H(18.1%) Z=, L=l ZtATJL IAX|

21} HE 252 07 E 2=eo] J

- (2FQ HIFE ZA) 14.6% = 13.2%, 1.4%p T
- (=9 Z2) 607,162H = 505348 1018148 24 168% 44, 2= XY ZL
- (2=l ZA) 103,734E = 76802 , 26932 LA 26.0% A
- (X198 HR) B2E X|Hoj|M 7*.+.(X1I$, =5, A5 %.*ﬁ 71)
XN 22 Z7](20.1%)> M 2(17.5%)> F4H6.2%) > Q1M (5.9%)
Q=9 HIE ME2(25.6%)>d7((17.5%)> M E(15.1%)> 21 (10.6%)

- (M) 126,856H(17.8%) = 101,970H(17.5%), 24,886FH(19.6%) Z2, 0.3%p T2

- (A=l H|E &) 27.2% = 25.6%, 1.6%p & A
- (W= ZEA) 92,293FH = 75873H, 16,420 ZA, 17.8% LA
- (Il ZhA) 34,563H = 26,097Y, 8466FH A 245% ZA

- (1H) 42,421H(6.0%) = 34,5778(5.9%), 7,844H(18.5%) L=, 0.1%p L4

- (@=Q! HE 57 104% = 10.6%, 0.2%p =7}
- (LH=Ql Z) 38,011 = 30,9139, 7,008 ZtA, 187% A
- (=2l ZA) 44108 = 3,664Y 746 T 16.9% Za

- (A71) 152,953F(21.5%) = 117,254F(20.1%), 35,699H(23.3%) &2, 1.4%p &HA

- (/=09 HE ZA) 18.0% = 17.5%, 0.5%p &4
- (LH=9Q1 Z+A) 125,384% = 96,7079, 28,6778 LA, 22.9% LA
- (Q=Ql ZhA) 27,569 = 20,547YH 7022 ZtA 255% Z4A

- (CH4*) 27,5458 (3.9%) = 23,376H(4.0%), 4,169F(15.1%) &=, 0.1%p 57t

- (=2l HF &) 24% = 2.1%, 0.3%p &4
- (LI=Ql Za) 26,874 = 22,8869, 3,988 ZtA, 14.8% L
- (2=l ) 6718 = 4909, 18198 ZA, 27.0% TA

- (BE) 24821H(3.5%) = 19,949 (3.4%), 4,872F(19.6%) &=, 0.1%p

o
IS

- (=2 HE &) 27% = 2.0%, 0.7%p &4
- (L= ZkA) 24,151H = 19,551, 4,600H ZH4A, 19.0% 24
- (=Rl ZA) 670H = 398, 2728 ZtA 40.6% LA

3) 20206 HX X% B2} 0{2S 9262620 HHE.



- (B4 45365 (6.4%) = 36,157F(6.2%), 9,208 (20.3%) A=, 02%p A2

- (2=l HE &) 2.0% = 1.7%, 03%p &2
- (L= ZEA) 44,4708 = 35,546, 8,924QH ZA, 201% LA
- (2RI ZEA) 8958 = 611%, 284F ZtA 31.7% LA

- (BH) 29512F(4.2%) = 23262F(4.0%), 62508 (21.2%) L, 0.2%p L2

- (=2l HE &) 3.7% = 3.3%, 04%p &4
(U= ZEA) 28411H = 22,4999, 5912&H ZtA, 208% LA
- (QFR ZEA) 1,101 = 7639 338 ZA 307% A

- (B4h 12,678 (1.8%) = 10,799H(1.9%), 1,879H(14.8%) &2, 0.1%p F7t

- (2=l HE &) 55% = 53%, 0.2%p &
- (LH=Q ZA) 11,9798 = 102229, 1,757Y L, 147% 24
(=l AUA) 699 = 5779, 1229 A, 17.5% AL

- (EF) 18,126H(2.5%) = 14,774H(2.5%), 3,352H(18.5%) &, HZ EH

SO H[E LA) 33% = 3.2% 0.1%p A=A
C(LA2Ql ZtA) 17,524% = 14,3029, 32228 ZtA, 184% UA
- (Q]FOl UA) 602 = 472, 130H UL, 21.6% AL

- (MY 23,132F(3.3%) = 21,280H(3.7%), 1,852H(8.0%) Z2, 0.4%p S7}

QIO HIE UA) 25% = 2.1%, 04%p LA
(U= &) 22,563 = 20,823F, 1,740Y &, 7.7% UL
- (2129 ZA) 569H = 457, 112 24 19.7% LA

- (M5) 19,9643 (2.8%) = 14,859F(2.6%), 5105 (25.6%) H=, 02%p &=

- (=2 HF #HA) 20% = 1.5%, 0.5%p &4
C(UFQ ZD) 19565 = 14,6349, 4,931 Z, 252% ZA
S (2IZQ ZA) 399F = 2250, 174H A 43.6% LA

- (M) 20,155H(2.8%) = 15,751H(2.7%), 4,404H(21.9%) LA, 0.1%p LA

- (=0 HF &) 27% = 2.3%, 04%p 4L
- (Lf=Ql ZA) 19,602H = 153879, 42158 ZA, 21.5% 244
- (Q=Ql ZhA) 553H = 3648, 189 ZA 342% LA




- S

) 2,586 (0.4%) = 1,926H(0.3%), 660H(25.5%) ZtA, 0.1%p ZA

(= HFE L) 175% = 15.1%, 24%p A2

- (W= ZEA) 2,133 = 1,635%, 498F ZtA, 23.3% ZA
- Q=0 ZhA) 453H = 2919, 162 A 358% A

- (&

o

o

'H) 25,6228(3.6%) = 20,519H(3.5%), 5103H(19.9%) &=, 0.1%p &

NCELRE

(22O ZA) 16318 = 1,069

Z UX) 64% = 52%, 1.2%p LA
(L=l ZtA) 239918 = 19450F, 4,541 ZA, 18.9% LA
Y 562Q A 345% ZtA

[ 0

- (3

=) 17,967

FH(2.5%) = 13,147H(2.3%), 4,820F(26.8%) &2, 0.2%p &2

(=0 HIEZ ZA) 63% = 4.8%, 1.5%p LA

- (LH=0l ZA) 16,832 = 12,5149H, 4,318 ZA, 257% A
- Q=0 ZA) 1,1358 = 633H 5020 2 442% LA
- (ZE) 19172¥(2.7%) = 16,146 (2.8%), 3,026H(15.8%) &=, 0.1%p F7}
- (=2l HF &) 2.0% = 1.9%, 0.1%p &4
- (LH=Ql ZA) 18,797H = 15,8449, 2,953H ZtA, 157% A
- (=0 ZA) 375 = 3029, 73 A, 19.5% A

- (M=) 56428(0.8%) = 3,778H(0.6%), 1,864 (33.0%)

2, 02%p LA

(=l
- (=2l
- (el =l

HES &) 3.6% = 3.0%, 0.6%p &2
o) 54418 = 36669, 1,775F &4, 32.6% A
o) 20198 = 1129, 899 Zt4 44.3% #HA

[ 0 Y

<38 7> XYE UW.2=UE mSHX SZ S&(19.6 CHH| 20.6 H}
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<E 4> X% L] 9|Foly

Okl

HX =7 sz

O o
Q= 2019.6 2020.6 dd S| OiHl 52
- ol ~(g) T4HI(%) eI =(g) F4HI(%) QIA(Y) | SLE(%)
Al 710,896 100.0 100.0| 582,150 100.0 100.0| -128,746 -18.1
& W=el 607,162 85.4 85.4| 505,348 86.8 86.8| —101,814 -16.8
252l 103,734 14.6 14.6 76,802 13.2 13.2] -26,932 -26.0
Al 126,856 17.8 100.0/ 101,970 17.5 100.0] -24,886 -19.6
NE =9 92,293 13.0 72.8 75,873 13.0 74.4| -16,420 -17.8
2=0l 34,563 4.9 27.2 26,097 4.5 25.6 —-8,466 -24.5
Al 42,421 6.0 100.0 34,577 5.9 100.0 -7,844 -18.5
old =2l 38,011 5.3 89.6 30,913 5.3 89.4 -7,098 -18.7
2=el 4,410 0.6 10.4 3,664 0.6 10.6 —-746 -16.9
Al 152,953 21.5 100.0] 117,254 20.1 100.0] -35,699 -23.3
=D W=el 125,384 17.6 82.0 96,707 16.6 82.5| -28,677 -22.9
230l 27,569 3.9 18.0 20,547 3.5 17.5 -7,022 -25.5
Al 27,545 3.9 100.0 23,376 4.0 100.0 -4,169 -15.1
CH= LH=el 26,874 3.8 97.6 22,886 3.9 97.9 -3,988 -14.8
=0l 671 0.1 2.4 490 0.1 2.1 —-181 -27.0
A 24,821 3.5 100.0 19,949 3.4 100.0 -4,872 -19.6
3= W=el 24,151 3.4 97.3 19,551 3.4 98.0 -4,600 -19.0
270l 670 0.1 2.7 398 0.1 2.0 -272 -40.6
A 45,365 6.4 100.0 36,157 6.2 100.0 -9,208 -20.3
ok LH=el 44,470 6.3 98.0 35,546 6.1 98.3 -8,924 -20.1
2=el 895 0.1 2.0 611 0.1 1.7 -284 -31.7
Al 29,512 4.2 100.0 23,262 4.0 100.0 -6,250 -21.2
3 LH=el 28,411 4.0 96.3 22,499 3.9 96.7 -5,912 -20.8
272 1,101 0.2 3.7 763 0.1 3.3 -338 -30.7
Al 12,678 1.8 100.0 10,799 1.9 100.0 -1,879 -14.8
4t =2l 11,979 1.7 94.5 10,222 1.8 94.7 -1,757 -14.7
270l 699 0.1 5.5 577 0.1 5.3 -122 -17.5
Al 18,126 2.5 100.0 14,774 2.5 100.0 -3,352 -18.5
= =2l 17,524 2.5 96.7 14,302 2.5 96.8 -3,222 -18.4
=2l 602 0.1 3.3 472 0.1 3.2 -130 -21.6
A 23,132 3.3 100.0 21,280 3.7 100.0 -1,852 -8.0
e tH=el 22,563 3.2 97.5 20,823 3.6 97.9 -1,740 7.7
2=2 569 0.1 2.5 457 0.1 2.1 -112 -19.7
Al 19,964 2.8 100.0 14,859 2.6 100.0 -5,105 -25.6
a5 =9l 19,565 2.8 98.0 14,634 2.5 98.5 —-4,931 -25.2
=0l 399 0.1 2.0 225 0.0 1.5 -174 -43.6
Al 20,155 2.8 100.0 15,751 2.7 100.0 —-4,404 -21.9
A W=el 19,602 2.8 97.3 15,387 2.6 97.7 -4,215 -21.5
=2l 553 0.1 2.7 364 0.1 2.3 -189 -34.2
Al 2,586 0.4 100.0 1,926 0.3 100.0 -660 -25.5
N&E =9 2,133 0.3 82.5 1,635 0.3 84.9 —-498 -23.3
2=el 453 0.1 17.5 291 0.0 15.1 -162 -35.8
Al 25,622 3.6 100.0 20,519 3.5 100.0 -5,103 -19.9
s W=el 23,991 3.4 93.6 19,450 3.3 94.8 —-4,541 -18.9
2=el 1,631 0.2 6.4 1,069 0.2 5.2 -562 -34.5
A 17,967 2.5 100.0 13,147 2.3 100.0 -4,820 -26.8
5 W=el 16,832 2.4 93.7 12,514 2.1 95.2 -4,318 -25.7
2=el 1,135 0.2 6.3 633 0.1 4.8 -502 -44.2
Al 19,172 2.7 100.0 16,146 2.8 100.0 -3,026 -15.8
& =@l 18,797 2.6 98.0 15,844 2.7 98.1 -2,953 -15.7
2=0l 375 0.1 2.0 302 0.1 1.9 -73 -19.5
Al 5,642 0.8 100.0 3,778 0.6 100.0 -1,864 -33.0
X W=el 5,441 0.8 96.4 3,666 0.6 97.0 -1,775 -32.6
27¢el 201 0.0 3.6 112 0.0 3.0 -89 -44.3
A 96,379 13.6 100.0 92,626 15.9 100.0 -3,753 -3.9
028 | W=¢ 69,141 9.7 .7 72,896 12.5 78.7 3,755 5.4
230l 27,238 3.8 28.3 19,730 3.4 21.3 -7,508 -27.6

ALXtz - AL 2ASH =l DB
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